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B. C. A. (Part IT) EXAMINATION, 2013

Paper Fifth

PROGRAMMING IN C+ + AND VISUAL C+ +
Titne : Three Hours\] - [ Mavirmum Mariks : 100

[ Minimum Pass Marks : 40

Note : Attempt any two parts from each question. All
questions carry equal marks,

L (a)
(b)

(c)
2. (a)

(b)

(c)

(b)

What are the advantages of Object Oriented
Programming ?

What do you mean by Polymorphism 7 Explain
with example.

Explain overloading with example.

What are the differences between structure and
class 7

Write a program in C+ + to demonstrate multiple
inheritance.

What do you mean by Operator Overloading ?
Explain with an example.

Explain virtual functions with suitable example,

Write a program in C+ + to check whether entered
number is armstrong or not.
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(c)

(b)
(c)

(b)
(c)
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What are the diffcrent types of inheritance @
Explain in brief.

What are the differences between Relational and
Object oriented databases ?

Define Booch methodology in brief.

What are the concepts of Object Structure ?

Write a short note on VC+ +.
Explain the features of MFC.
Explain the following :

(i) View object

(ii) Document object
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B. C. A. (Part IT) EXAMINATION, 2013

Paper Sixth

COMPUTER NETWORKING AND INTERNET

TECHNOLOGY

Time : Three Hours | | Maximum Marks : 100

[ Minimum Pass Marks : 40

Note : Attempt any two parts from each Unit, All questions
carry equal marks,

1. (a)

(b)

(c)

(b)

(c).

[#8::]

Unit—1
What is Computer Network ? Explain different
standard organizations of computer nctwork.
Explain point to point and multipoint line
configuration in brief.
What do you mean by Topology ? Explain various
topologies with suitable diagram.

Unit — 11
What is TCP/IP Reference Model 7 Explain
functions of each layer of TCPAP model.
What do you mean by Protocol ? Explain frame
format of UDP datagram of transport layer.
Explain the term “Arpanet” and “NSFNET” in detail
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3 (a)

.(b)

(c)

(b)

© 3

(b)

(c)
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What is the purpose of Encoding 7 Explain varions -

types of encoding method with suitable example.
What do you mean by Interface ? Briefly explain
DTE-DCE interface with diagram,

What is Modem ? Expliin the types of modem
and standards of modem.
Unit—1V

Explain CGI scripting with suitable example.
Whatis}HML?Hugrdnwusemhlc,fnrm,
image in HTML ? Give an example separately.
What is Internet, Intranet and Extranct ? Explain
client server model of internet with diagram.

e Uni_;‘.a—'"i."
Define Java scripl. Erpl.am striicture  and basie
commands of Java script with examples,
Define styles in HTML tags. What are the features
of Style Sheet 7 )
What do you understand by dynamic HTML ?
Create a simple web page through dynamic HTML.
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B. C. A. (Part IT) EXAMINATION, 2013
Paper Fourth
3 DBEMS (ORACLE, SQL)

Time : Three Hours | | Maximum Marks : 100

Note :

1. (a)

(b)

(c)

2. (a)

(b}

{e)

[ Minimum Pass Marks : 40
Attempt two parts from each question. All questions
carry equal marks.

What are the main functions of a database
administrator ? Also explain different kinds of
DBMS users.

What is database language ? Explain various
database languages with approprite examples,
Explain DBMS system structure with suitable block
diagram.

Explain the concept of aggregation. Give fwo
examples of where this concept is useful.

Construct an E-R diagram for a banking enterprise
which includes the entity sets, attribute,
relationship set and mapping cardinalities. 5
How do we convert an E-R model to relational
schema ? Explain in detail with appropriate examples.
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What is relational algebra ? Exolein the
fundamentsl wnary and binary cperations of
relational algebra,

Cansider the following relasion:

loan {loan-number, bransh-name, amount)

horrower (customer-name, loan-number]

Give 2 relational algebra expression for sach of the

following query ;

(i) Select those tuples of loan relazion where branch
is Perryridge’.

(ii) Find 21l tuples in which the amount lent is mere
than $1200

(i Find the aames of all ausiomers with a loan in
the bank.

(iv) List 1 Loan number and amount of the lean.

(v} Find these tuples pertaining to leans of more
than $1200 made by the Perryridge branch.

What is integrity constraint ? Explain not null, unique
and check intagricy corsteaint.
What are the pitfells in relational database design ?
Explain with suitable example.
Bxplein decomoasition with appropriate example
Also explai lossy cecompositier and lossless jorn
decoraposition,
How ezn we obtain Boyee Codd normel form ?
Cerpare BONF and 3 NF.
Cimsider the follewing relational schema :
depositar (customar-name, account-number)
borrawer (customer-name, loan number]
sceount (aceount-number, branch-name, balance|

costomer  (customer-name, . costemer-Sreal,

© cuslomer-cify) i

(3]

Write SQL Commend for the following query :
(i) Pind all eustomer having & loan, &n aceount or
both ai the bank,
() Find all customers whe have an accoun; bat no
lozn 4 the bank,
(i) Find average account balance at the Perry-
ridge” branch, -
(i) Find rmber of tuples in the eccount relaion.
(v} Find rames of all customer whose stroet address
includs the substring ‘main”
(5} Wrie down the syntax for ereate 2 table in SQL and
eiplein it Write SGL ommanc o creste @

“Cugtemer” table with the following aitribute :
(Customer-id, Customer-name,  Customer-street,

Custorrer-city). Defina eustomer-1d as primary key.

(¢) Explain 3L DL commands to insert. deleie,
etrieve and update daie in a table.

W-2134 - 1,600




B. C. A. (Part II) EXAMINATION, 2013
Paper Sccond
DIFFERENTIATION AND INTEGRATION
Time : Three Hours | [ Maximum Marks : 50
Note :Attempt any fwo parts from each question. All
questions carry equal marks.
Unit—1

L (&) if l,,:j%:(x”llngx], prove that :

L=nL _,+(@—-1)!
(b) Verify Cauchy's mean value theorem for function
x? and 3 in [1, 2).
(c) Expand 2x°+7x%+x—1 in powers of (x — 2) by
Taylor’s theorem.
Unit— 11
2. (a) Find the asymptotes of the curve :
y’—-.\.}z—ﬂy +x3+xz—y2--1=ﬂ.
(b) For the ellipse :
2
‘IE
prove that the radins of curvature at an end of
the major axis is equal to the semilatus rectum
of ellipse. _
Das PTO
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(e) Thace the care

PRa=2)=2,
Uit =111

3 (@) If£Y7=c, then show that :

1:”2 z s}
iy (¢loge)
when x=y =3,
(b) State and prove Faler's theorem for Homozencous
Fanetions of two variables,

(©) Hd+A=xtyad 47 =0+, then show
thit .

_iy) ),LI;

il B e

Ty 2wfe=ry
Unit -1V

Ty)

4, (a) Evaluate :

iz

(b) Find the value of :

1
J’" i
b4+ 5siny

(¢) Ust properties of definie integral, find the value
of ;

ui
1lanx
—i
' fﬂ seort lens

ik

[3]

Unit=Y

© 5 (@) Eviuate :

(A0 e e
J.; J: h Lsinydzdydr

" (b) Evaluate the followmg integral by changing the
order of integration :

f wa

04y gty

{¢) Frd tae length of the arc of the curve :

-1
slg—frmx=1tcx=2
4 gf:"+1
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B.C, A. (Part II) EXAMINATION, 2013
Paper Third
DATA STRUCTURE

Time : Three Hours | [ Maximum Marks : 50

Note: Attempt fwo parts from each question. All parts
carry equal marks.

Unit—I
1. {a) How do you find the complexity of an algorithm %
What is the relation between the time and Epace

complexities of an algorithm ? Justify FOUr answer
with an example.

(b)  What is a data structure ? Mention the various types
of data structures.

(¢) Define Algorithm. What are the features of an
efficient algorithm ?

Unit—I1
2. (a) Show the bubble sort steps for the following numbers :
25 1072184011329

(b) Write and explain an algorithm to search a list of
numbers using linear search method,

B34 P.T.O.
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{e} What is array ? How are two-dimensional arrays
stored in memory ?

Unit—I11

{a) What is a Stack 7 Explain wvarious operations
performed using stack with examples.

(b)  Write algorithms to insert and delete elements from
a queus,

{c) What is a linked list 7 Explain the different types of
linked list with a neat diagram,
UNIT—IV
(a) Explain Binary search tree in brief with one

example and also explain the advantages of Binary
search tree.

(b)  Write an algorithm for Insert and Delete a node
from a Binary Search Tree.

{c) Show the result of inserting the keys. F, 8, QK C
LHTVWM, B, N,P,ABXY.DZEin the
order to an empty B-tree of degree-3.

UNIT—V
(a)  Write an algorithm to sort a list of elements using
Merge sort technique.

(b) Write an algorithm to sort a list of elements using
Selection sort technique.

(e} Discuss the procedure and develop an algorithm to
sort a list of elements using Insertion Sort technique. .

W-2133 1,600
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B. C. A. (Part II) EXAMINATION, 2013
Paper Ninth
{(Foundation _Cuurﬂe‘,l
ENGLISH LANGUAGE

Time : Three Hours | | Maximum Marks : 50
" [ Minirmum Pass Marks : 20

Note : Attempl all questions.

[

'  Unit—I

L. Answer any five of the following questions : 10
(a) -What do you mean by phrase “All men are
scicntists™ 7
(b) Who is the earliest person who wrote on medicine
in ancient India ?
(c) When did the pulse of the plant become ui-:m:l
- violent and more rapid ?
id} ."-“-"hilch situation - is worse than illiteracy 7
() In how. many ways does pollution enter the water-
ways 77 '
(f) Which epic-making discoveries were mide in the
field of Mathematics in ancient India ?
E-63 P T O
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Unit-11

2 () Read the olowing pse wd answer the

E)

questions given belcy : iR

It & probably very slint cn the Moon becauee

tete ace 0o clowds on the Moon, fr thee is
wer. Couds are made of wier This there are
00 plnis, 10 1125, 10 ris on the Mooa, Acully
there i noding ing there, or f here e lving
ting, ey are 0 o ol e e g things on
Earth. Your fnds woud feel Bhe fathers, Yoy
weld be abl o un many tmes fitr fhag you

e oo Eurh, Tote are 0 b beigs on thy

Moot. No buma being would e ther,fr e

5 00 Water end 1o air, O Euth, modt of the

soucc we e At ransnied thrugh te i, You

Wi feal very fight on the Moom-becawe e

ul of gady there s ek s tan e n

it You oo be abl to rum g5 fag 35

tram. You would be ble t¢ jump o agh s 2

house,

Qstions :

() Why are there no clouds on the moon 7

) Wy do fe Bkt on t com 9

i) Deserbe your feehgs vhen .m e an (he
m),

() What s cou made of |

) How fid would you be able to run on the
moon !

|

-

3]

W-213

" (0) G syomyms of the words given below (uy

M

(i) disease
) e
(i) barm
(i) attack
(v) perfec
(v) conquer

(v e

5

() G wlooms of de word gien belw

(aay fie) :

() s -

i) ey

(i) concave

fu") sour

(o) rpid

(v). necassary

(v defend

Unit-[11
3 Whie a repat on Alr Pollvin n yor ciy
O

5

5 :

Whic a roprt on Anual Fuscton of your collsge,

Unit-IV
4 Weie about zny one of the folowng :
(a) Al that glters i not gold.
(o) Time and tide wat for nose.
(c] Whre there i a will, there is a vay
(d) Acton vithout thougit is folly

&
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Unit=Y

§- Dy s diected aay fifen of he folowing © 5 o

) Ho S e M (et 3, 1)
) e 0 . R ?
(Fill wih corectform of e)
) We enjoed cnues 2 the pry b gl '
(il kst e o)
(f) We. v 000 nnch zm Bor agc
(U o)

(1) The ey man ke the 08¢ o, I 6

golden cags.  (Use relative proncun)

() My bed i nct very confrabe Your bed & e

(Usé compuraiv: degree of wnderlned vord)

(i) 1 s very prekty Doldng, 1 € o | have

e (Use superatvs degre)
() Chidren o (ecy) fo pley cricket.

(Use presea ndefc o prest coniuns)

(i) Here they ers coming (&rru‘i the seatence)
() The veearo () hae sne i cruped
(Use preseat perfaet on rese pefet wnﬁnmns]
() 100 sy et the office eaty tcy

Uil o v i)

(i) Tacre will be ush fon seals whea the (e

(arie]. (Use coreet tense

() Wio has broben the tble 7 (Changs the i)
(1r) Please shut ke door, (Change the voicz)

[5]
(1) Ee bonzst,

- You will oie your ch, (Use cier ..., or)
(i) He was e

(Use preposition)

(o] He did not write (g g,

" He did vt lt 10 (Use el .., or)
(m)’]‘htyhve e Bt sreel (U prepasi.‘inn:l
) 1 ke taeling by ey s 115 01 fongh |

: (Use 1 or ual |
() Karan staged oy, o

He did m: sugy (Compe sing buf)

W-113
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B. C. A. (Part II) EXAMINATION, 2013

Paper Seventh
LINUX.

Time : Three Hours | | Maximum Marks : 50

Note :

1. (a)

®)

(c)

B-74

Attempt any two parts from each Unit. All questions
carry equal marks.
Unit-I

What are the various system directories and files
available in LINUX ?

‘Write down the steps for installing a Linux Red Hat

in system. E

How would you perform the following operations in

Linux ?

(i) List all files beginning with the character ‘A’ on
the screen.

(ii) Merge the contests of the file ‘abc’, xyz', sort

them and display the sorted output on the
sCreen.

(iii) What is the command for changing the
permission of any file ? .

(iv) What is the command lor knowing how many
users are currently logged with system.

(vl What is the command for create a background
process 7




(2] V-1

Unit-1I
Ll Waar is Yanking ! Mae difference between
Yanking and delstein Linux.
() What are the fhres modss of vi ? Eaplain the
purpose of exe !
(¢)  Writestort notes on any two the following
(i) Mecros '
(i) Eracs features
(i) Se; Auto indext
Unit-1II
3. (i) Write a SHELL scipt o check the entered yeer s
Leap year or nol,
() What do you nderstand By eperauors in inuz ?
Txolain logieal peraiorwith & example
(@ Write 8 SHELL ser: o disglay first 10 prine
numbers. )
UnitAV
& fe) What are the faciities provided by GNONE and
KDR tousers* Explain each ofthem in deail ‘
b) What i X-Window ! I.Msu explain the term
¥-Vindow sessicn Litux, |
() Wrteshortnotes an tuo onthe fllowing
(1) FWY and VW95
() Window manager
() Stap of settng wallpaoer in KDE

B .

[}

3]
Unit-V
5. () Exolaia thosiartup and shutdown proces n Lo

b Whet do you undstand by User end Group ?

Ecplain how we create ¢ user in Lim.

ie) Wht do you understand by iridab end proflle fle?
Explein the importance of it

2137 | C1m
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B. C. A. (Part IT) EXAMINATION, 2013

Paper First
NUMERICAL ANALYSIS

Time : Three Hours | [ Maximum Marks : 50

Note : Attemp{ any fwo paris from cach question. All
questions  carry equal marks, Simple/Scientific
calculator is allowed.

i (a)

(b)

' (c)

D33

Unit —1

Give an cxample of transcendental algebraic
equation. Find a real root of the equation :
fy=x-2x-5=0

using bisection method in five stages,
Use Newton's method to find a root of
the equation :

P-3x—5=0
Find the root of the equation -

x=cosx+3

correct to three decimal places using iterative
method.

R T O




[2] Warar.

B

Unif=11

L) Aply Gasclodn mehod to she e
equations ; .

¥tydz=9
Le=3y4dz=1
3x+4y+5:=l4l}

Aoply Cholesky's method to salye the ‘equations :

424 Tr=4

4

EXITIES
Jutdyti=t

Let X; and Kzlhc W0 cigen vectors of 3 matrx
A carresponding to the =gen valye J, then prove
bat X4+ is 260 an sign vector of A
comespondng o the seme eigen value,

Lit=1II

3 (a) Defire interpolaion, From the following table,
estimate the wunber of students who obtained
marks betwezn 40 2nd 45 :

Marks No. of Students
0-40 L
4-50 Y
0-50 I
-1 %
0-80 i

Defin extrapalation. Using Lagrange's inerpoliion
formula, find the valve of ¥ fr 1= 95 from tae
lzble ahead :

b3

[3] W-2131
$ y=[l
1 3
8 % g
: !
,, 0
(©) Compute f(2.4,9,10) when [ =r+241
Unit-IV
(a) Evalate :
&
0142
by using Trapezoidal rule,
-
) Fid the vake o log 2 from J; ﬁa}, Usirg

Simpson's 13 ul by cividing the range il four
cqual parts '

(¢] A tiver s 80 metres wide, The depth 4 (in metres)
of the rver 4 a diance 7 fom the bl is gven
by the following tablz -

I d
i 0
1 1
b 1
) 9
1 1\
5 15
] 14
[ §
8 1
Find approsimately the area of cresssection of (he
et by Simpsor's Y8 rle,

{

ETO
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5. (a)
(b)
(c)
W—2131

b-33

[4]
Unit—-¥

Given 4 = 222 with the nitial condition y =1
at x=0. Find y for x =0-1 by Euler's method.
Using Taylor's series find the solution of the
differential ~ equation x' =x—y:y(2)=2 at
x=2-1, correct to the five places of decimal.
Use Picard’s method to approxmate y when
x=01, x=0-2, gven that y=0, x=0,

$=x+y,

1600
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W-2138

B. C. A. (Part 1) EXAMINATION, 2013
' Paper Eighth
PRINCIPLES OF MANAGEMENT
Time : Three Hr.;-u.rs | v | Maximum Marks : 50

Note : Attempt all questions, All questions carry equal marks.
Unit— 1
1. What do you mean by Management ? Discuss the tasks
of a professional manager.
Or

What are the different approaches of management ?
Discuss the behavioural approach,

Unit—11
2. Definc Planning. Discuss in detail the steps of planning
process. .
Or
Write short notes on the following :
{a) Significance of planning
(b} Feasibility report

Unit— 111

3. What do you understand by Organiring ? Explain the
determinants of effectiveness organizing,

E£4 BT O
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Or
Write short notes on the following :
(a) Staffing
(b) Organizational structures
Unit— 1V

4. Define Communication. What are the various barriers

in effective communication ?
: Or
What is Supervision ? Discuss the determinants of
effective supervision,
Unit—¥

5. Write a note on importance of controlling in an

organization,
' Or
Discuss the techniques and processes of decision-making,

bl
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